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X % MEEER & B #if B EHH %5 iR R B AR X =t
001 EFfFH 62, 650 7, 950 70, 600
003 FEIETH 10, 450 10, 450
005 [lUF 12,450 12, 450
007 BB 9, 400 800 10, 200
009 E+EHTH 19, 300 19, 300
011 #R B 11, 050 11, 050
013 XA 9,900 9,900
014 Em7ILTRTH 22,150 1,900 24,050
015 Jb4tvh 12,650 12, 650
016 EH3ET 17, 450 900 18, 350
017 vy - HEERR 5,000 1,300 6, 300
019 FaEEER 7,950 7,950
021 78/\HKER 5, 250 1,000 6, 250
023 W 22,400 500 2,100 25,000
027 EIEREB &R 7,450 7,450
029 E87Eth 9,100 9,100
& &t 244,600 500 15, 950 261, 050
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